KEHABHEE —E SH6EE 1A EKE KFHE
No B B % X % KEHEE]| 4/15 5/10 6/7 7/5 8/2 9/6 10/4 11/8 12/6 1/10
BEEBEHK OIEH | 4918H | 9IBH | 91H | 51IF | 9EH | 9IEH | 49188 | 9IEH | 91BH
1 — R BARE =100 0 0 0 0 0 0 0 0 0 0
2 XEE BABE THE | TRHE | TBE | THRE | THRE | THRE | T8d | TRE | THE | TRYE | T#HE
3 ARV LRUZDIEEY ERERE =0.003 - =<0.003 - - <0.0003 - - <0.0003 - -
4 KEBRVZDILEY ERERE =<0.0005 - =<0.0005 - - <0.00005 - - <0.00005| - -
5 LU RUVZEDIEEY BREEE <0.01 - <0.01 - - <0.001 - - <0.001 - -
6 MRUZDIEEYD REREE <0.01 - =<0.01 - - <0.001 - - <0.001 - -
7 ERRUZDIELEY R =0.01 - =0.01 - - <0.001 - - <0.001 - -
8 NMEIOLIEEY EREE =0.02 - =0.02 - - <0.002 - - <0.002 - -
9 BHMEER & <0.04 - <004 - - <0.004 - - <0.004 - -
10| ST7UEMAAVRUIERS TV ERERE =<0.01 - =<0.01 - - <0.001 - - <0.001 - -
11| WREZEZRUVUEEBEZER BRERE =10 - 0.06 - - 0.16 - - 0.13 - -
12 TVRRUZDIEED BRERE =08 - <0.08 - - <0.08 - - <0.08 - -
13 RORRUZDIEEY EREE =1 - <0.1 - - <0.1 - - <0.1 - -
14 mig{biRER R E =0.002 - <0.0002 - - <0.0002 - - <0.0002 - -
15 1, 4—F X5 EREEE <0.05 - <0.005 - - <0.005 - - <0.005 - -
16]v2-1.2-y9RIFLY R UNYA-1,2-v 9on1FLy|  (BEEREE =<0.04 - <0.001 - - <0.001 - - <0.001 - -
17 cHOOirsy & <0.02 - <0.001 - - <0.001 - - <0.001 - -
18 ThZoROIFLY ERERE =0.01 - <0.001 - - <0.001 - - <0.001 - -
19 k)oooTFLY BRERE <0.01 - <0.001 - - <0.001 - - <0.001 - -
20 % ERREE =0.01 - <0.001 - - <0.001 - - <0.001 - -
21 e BERE <06 - <0.06 - - 0.07 - - <0.06 - -
22 pd=l=lidivd REEE <0.02 - <0.002 - - <0.002 - - <0.002 - -
23 PI=I=E N BERE <0.06 - 0.012 - - 0.030 - - 0.020 - -
24 YOO ERERE =003 - 0.008 - - 0.014 - - 0.008 - -
25 CJOEYARAY ERERE =0.1 - <0.001 - - <0.001 - - <0.001 - -
26 RERB BRERE =0.01 - <0.001 - - <0.001 - - <0.001 - -
27 BhyOrgy EREE =0.1 - 0.015 - - 0.034 - - 0.024 - -
28 r)YBOOREEE R E <0.03 - 0.008 - - 0.02 - - 0.012 - -
29 JREDH/OArY & =0.03 - 0.003 - - 0.004 - - 0.004 - -
30 JOERILL fEREE =0.09 - <0.001 - - <0.001 - - <0.001 - -
31 RILLTILTER ERERE <0.08 - <0.008 - - <0.008 - - <0.008 - -
32 FRRUZDIEED KEKDHER =1 - 0.002 - - 0.003 - - 0.009 - -
33| FIEZHLRUZFDILED KEKDHER <02 - 0.01 - - 0.01 - - 0.01 - -
34 BRUZDIELED FKE KD IR =03 - <0.03 - - <0.03 - - <0.03 - -
35 FARUVZDILEY TKE KD IR =1 - <0.01 - - 0.01 - - 0.03 - -
36 FRIDLBRUVZDILEY TKE KD IR =200 - 6.2 - - 5.7 - - 59 - -
37 IVHVRUVZEDIEED FKE KD IR <0.05 - <0.001 - - <0.001 - - <0.001 - -
38 Eie14 BARE =200 8.8 7.2 7.2 8.2 7.7 6.9 9.3 74 7.1 7.3
39| WL L, TR LE BEE) | KEKDMER =300 - 17 - - 21 B - 21 - -
40 RFEZEY KEKDHER =500 - 43 - - 46 - - 65 - -
41 fEAA > KA S JKEK DR =02 - <0.02 - - <0.02 - - <0.02 - -
42 It ARIV FKEKDHEIK| =0.00001 - - - - <0.000 - - - - -
43 2—AFILAVRILIF—IL KEKDMHIK] =0.00001 - - - - <0.000 - - - - -
44 AR EEHES TKEKD IR <0.02 - <0.002 - - <0.002 - - <0.002 - -
45 Jx/— IV KEKDHEK| =0.005 - <0.0005 - - <0.0005 - - <0.0005 - -
46| EHM(EEHRRF(TOC)DE) BARE <3 0.4 05 0.6 0.6 0.7 0.7 0.7 0.6 0.5 0.5
47 pH1E BABRE 5.8~8.6 7.2 7.2 7.1 7.0 6.9 6.9 7.0 6.6 6.8 6.9
48 S BARE | EEThL| #HL L HL L L AL L AL L L
49 2K #ARE | EEThL | HL AL L HL HL HL L AL HL AL
50 BE BABE <5° <05 <05 <05 | <05 <05 <05 | <05 <05 <05 | <05
51 AE BABE =2° <0.1 <0.1 <01 <0.1 <0.1 <0.1 <0.1 <041 <0.1 <01
e 0.4 0.4 0.44 0.4 05 0.3 0.5 05 0.5 0.4
S B 15.1 19.8 23.4 27.1 294 275 224 13.1 9.5 7.0
K Bl 12.4 16.3 19.0 23.4 26.1 27.2 21.6 13.3 9.3 4.1




KEHABHEE —E SH6EE 2" HXEZ EFKE EREBX
No B B % X % KEHEE]| 4/15 5/10 6/7 7/5 8/2 9/6 10/4 11/8 12/6 1/10
BEEBEHK OIEH | 4918H | 9IBH | 91H | 51IF | 9EH | 9IEH | 49188 | 9IEH | 91BH
1 — R BARE =100 0 0 0 0 0 0 0 0 0 0
2 XEE BABE THE | TRHE | TBE | THRE | THRE | THRE | T8d | TRE | THE | TRYE | T#HE
3 ARV LRUZDIEEY ERERE =0.003 - <0.0003 - - <0.0003 - - <0.0003 - -
4 KEBRVZDILEY ERERE =<0.0005 - <0.00005 - - <0.00005 - - <0.00005| - -
5 LU RUVZEDIEEY BREEE <0.01 - <0.001 - - <0.001 - - <0.001 - -
6 MRUZDIEEYD REREE <0.01 - <0.001 - - <0.001 - - <0.001 - -
7 ERRUZDIELEY R =0.01 - <0.001 - - <0.001 - - <0.001 - -
8 NMEIOLIEEY BEREEE =0.05 - <0.002 - - <0.002 - - <0.002 - -
9 BHMEER & <0.04 - <0.004 - - <0.004 - - <0.004 - -
10| ST7UEMAAVRUIERS TV ERERE <0.01 - <0.001 - - <0.001 - - <0.001 - -
11| WREZEZRUVUEEBEZER BRERE =10 - 0.08 - - 0.15 - - 0.13 - -
12 TVRRUZDIEED BRERE =08 - <0.08 - - <0.08 - - <0.08 - -
13 RORRUZDIEEY EREE =1 - <0.1 - - <0.1 - - <0.1 - -
14 mig{biRER R E =0.002 - <0.0002 - - <0.0002 - - <0.0002 - -
15 1, 4—F X5 EREEE <0.05 - <0.005 - - <0.005 - - <0.005 - -
16]v2-1.2-y9RIFLY R UNYA-1,2-v 9on1FLy|  (BEEREE =<0.04 - <0.001 - - <0.001 - - <0.001 - -
17 cHOOirsy & <0.02 - <0.001 - - <0.001 - - <0.001 - -
18 ThZoROIFLY ERERE =0.01 - <0.001 - - <0.001 - - <0.001 - -
19 k)oooTFLY BRERE <0.01 - <0.001 - - <0.001 - - <0.001 - -
20 % ERREE =0.01 - <0.001 - - <0.001 - - <0.001 - -
21 e R E =06 - 0.09 - - 0.20 - - 0.20 - -
22 pd=l=lidivd REEE <0.02 - <0.002 - - <0.002 - - <0.002 - -
23 PI=I=E N BERE <0.06 - 0.014 - - 0.036 - - 0.020 - -
24 YOO ERERE =003 - 0.009 - - 0.014 - - 0.008 - -
25 CJOEYARAY ERERE =0.1 - <0.001 - - <0.001 - - <0.001 - -
26 RERB BRERE =0.01 - <0.001 - - <0.001 - - <0.001 - -
27 BhyOrgy EREE =0.1 - 0.017 - - 0.042 - - 0.024 - -
28 r)YBOOREEE R E <0.03 - 0.010 - - 0.02 - - 0.013 - -
29 JREDH/OArY & =0.03 - 0.003 - - 0.005 - - 0.004 - -
30 JOERILL fEREE =0.09 - <0.001 - - <0.001 - - <0.001 - -
31 RILLTILTER ERERE <0.08 - <0.008 - - <0.008 - - <0.008 - -
32 FRRUZDIEED KEKDHER =1 - 0.003 - - 0.004 - - 0.007 - -
33| FIEZHLRUZFDILED KEKDHER <02 - 0.02 - - 0.01 - - 0.01 - -
34 BRUZDIELED FKE KD IR =03 - <0.03 - - <0.03 - - <0.03 - -
35 FARUVZDILEY TKE KD IR =1 - <0.01 - - 0.01 - - 0.02 - -
36 FRIDLBRUVZDILEY TKE KD IR =200 - 6.5 - - 6.0 - - 6.2 - -
37 IVHVRUVZEDIEED FKE KD IR <0.05 - <0.001 - - <0.001 - - <0.001 - -
38 Eie14 BARE =200 8.7 15 76 8.3 8.0 14 9.9 76 7.3 76
39| WL L, TR LE BEE) | KEKDMER =300 - 18 - - 22 B - 22 - -
40 RFEZEY KEKDHER =500 - 45 - - 57 - - 65 - -
41 fEAA > KA S JKEK DR =02 - <0.02 - - <0.02 - - <0.02 - -
42 It ARIV FKEKDHEIK| =0.00001 - - - - <0.000 - - - - -
43 2—AFILAVRILIF—IL KEKDMHIK] =0.00001 - - - - <0.000 - - - - -
44 AR EEHES TKEKD IR <0.02 - <0.002 - - <0.002 - - <0.002 - -
45 Jx/— IV KEKDHEK| =0.005 - <0.0005 - - <0.0005 - - <0.0005 - -
46| EHM(EEHRRF(TOC)DE) BARE <3 0.4 0.4 0.6 0.7 0.8 0.7 0.7 0.6 0.5 0.5
47 pH1E BARE 5.8~8.6 71 7.3 7.3 7.1 7.1 7.2 7.1 7.2 7.0 7.0
48 S BARE | EEThL| #HL L HL L L AL L AL L L
49 2K #ARE | EEThL | HL AL L HL HL HL L AL HL AL
50 BE BABE <5° <05 <05 <05 | <05 <05 <05 | <05 <05 <05 | <05
51 AE BABE =2° <0.1 <0.1 <01 <0.1 <0.1 <0.1 <0.1 <041 <0.1 <01
e 0.5 0.6 0.5 0.6 0.6 0.5 0.7 0.6 0.6 0.6
S B 14.3 17.3 225 27.0 28.7 27.6 21.8 1.4 8.1 5.2
K Bl 1.2 17.7 18.8 22.4 24.8 27.7 23.2 15.7 10.8 5.1




KEHABHEE —E SH6EE 3 X4 =Bl
No B B % X # |KEEEE 8/2 m% == = 1y
BREBE# 51I5H
1 —iEE BARE =100 0
2 KiG&E #2ARE THt THt
3 ARV LRUZDIEEY ERERE =0.003 <0.0003
4 KEBRVZDILEY ERERE =<0.0005 <0.00005
5 LU RUVZEDIEEY BREEE <0.01 <0.001
6 MRUZDIEEYD REREE <0.01 <0.001
7 ERXRUZDILEY RBEEE <0.01 <0.001
8 ANEZOLIEESH EREE <0.05 <0.002
9 BHMEER & <0.04 <0.004
10| ST7UEMAAVRUIERS TV ERERE =<0.01 <0.001
11| WHREZEZRUBEBEESR BRERE =10 0.15
12 TVRRUZDIEED BRERE =08 <0.08
13 RORRUZDIEEY EREE =1 <0.1
14 migfbix®R R =<0.002 <0.0002
15 1, 4—CFFH> fEEERSE =0.05 <0.005
16|22-12-y 97V R UM YA-1.2-v p0nT7Ly | (R EEREE =0.04 <0.001
17 cHOOirsy & <0.02 <0.001
18 ThZHYOOIFLY ERERE =<0.01 <0.001
19 k)oooTFLY BRERE <0.01 <0.001
20 o€y ERREE <0.01 <0.001
21 e BERE =06 0.07
22 pd=l=lidivd REEE <0.02 <0.002
23 PI=I=E N fEREE <0.06 0.026
24 YOO ERERE =003 0.012
25 PFIsEY ==Y ERERE =0.1 <0.001
26 RERB BRERE =<0.01 <0.001
27 M) AOARY EREE =0.1 0.031
28 k) OOEEE R E =0.03 0.017
29 JREDH/OArY = =0.03 0.004
30 JAaERILL fEREE <0.09 <0.001
31 RILLTILTER ERERE =0.08 <0.008
32 BIMRUVZDIEEY FKEIKDHEIR =1 0.003
33| FIEZHLRUZFDILED FKE KD IR =02 0.01
34 BRUZDIELED FKE KD IR <03 <0.03
35 FARUVZDILEY TKE KD IR =1 <0.01
36 FRIDLBRUVZDILEY TKE KD IR =200 5.8
37 IVHVRUVZEDIEED FKE KD IR <0.05 <0.001
38 Eie14 BARE =200 717
39| WL L, TR LE BEE) | KEKDMER =300 21
40 REEEY IKEK DR =500 50
41 fEAA > KA S FKEIKD IR <02 <0.02
42 It ARIV FKEKDHEIK| =0.00001 <0.000
43 2—AFILAVRILIF—IL KEKDMHIK] =0.00001 <0.000
44 AR EEHES TKEKD IR <0.02 <0.002
45 Jx/—)LEE KEKDHEK| =0.005 <0.0005
46| AHM(EERRZF(TOC)NE) BARE =3 0.7
47 pH1E BARE 5.8~8.6 6.9
48 S BARE | BEThL HL
49 BR BARKRE | EETHL L
50 BE BARE =5° <05
51 AE B2ARE =2 <0.1
e 0.6
= B 275
7K B 24.6




KEABRBER — & TH6EE & EKEFE [B3E]

No B B % X % KEHEE]| 4/15 5/10 6/7 7/5 8/2 9/6 10/4 11/8 12/6 1/10
BEEBEHK OIEH | 4918H | 9IBH | 91H | 51IF | 9EH | 9IEH | 49188 | 9IEH | 91BH
1 — R BARE =100 0 0 0 0 0 0 0 0 0 0
2 XEE BABE THE | TRHE | TBE | THRE | THRE | THRE | T8d | TRE | THE | TRYE | T#HE
3 ARV LRUZDIEEY ERERE =0.003 - <0.0003 - - <0.0003 - - <0.0003 - -
4 KEBRVZDILEY ERERE =<0.0005 - <0.00005 - - <0.00005 - - <0.00005| - -
5 LU RUVZEDIEEY BREEE <0.01 - <0.001 - - <0.001 - - <0.001 - -
6 MRUZDIEEYD REREE <0.01 - <0.001 - - <0.001 - - <0.001 - -
7 ERRUZDIELEY R =0.01 - <0.001 - - <0.001 - - <0.001 - -
8 NMEIOLIEEY BEREEE =0.05 - <0.002 - - <0.002 - - <0.002 - -
9 BHMEER & <0.04 - <0.004 - - <0.004 - - <0.004 - -
10| ST7UEMAAVRUIERS TV ERERE <0.01 - <0.001 - - <0.001 - - <0.001 - -
11| WREZEZRUVUEEBEZER BRERE =10 - 0.07 - - <0.16 - - 0.13 - -
12 TVRRUZDIEED BRERE =08 - <0.08 - - <0.08 - - <0.08 - -
13 RORRUZDIEEY EREE =1 - <0.1 - - <0.1 - - <0.1 - -
14 mig{biRER R E =0.002 - <0.0002 - - <0.0002 - - <0.0002 - -
15 1, 4—F X5 EREEE <0.05 - <0.005 - - <0.005 - - <0.005 - -
16]v2-1.2-y9RIFLY R UNYA-1,2-v 9on1FLy|  (BEEREE =<0.04 - <0.001 - - <0.001 - - <0.001 - -
17 cHOOirsy & <0.02 - <0.001 - - <0.001 - - <0.001 - -
18 ThZoROIFLY ERERE =0.01 - <0.001 - - <0.001 - - <0.001 - -
19 k)oooTFLY BRERE <0.01 - <0.001 - - <0.001 - - <0.001 - -
20 % ERREE =0.01 - <0.001 - - <0.001 - - <0.001 - -
21 e BERE <06 - <0.075 - - <0.14 - - <0.13 - -
22 pd=l=lidivd REEE <0.02 - <0.002 - - <0.002 - - <0.002 - -
23 PI=I=E N BERE <0.06 - 0.013 - - 0.033 - - 0.020 - -
24 YOO ERERE =003 - 0.009 - - 0.014 - - 0.008 - -
25 CJOEYARAY ERERE =0.1 - <0.001 - - <0.001 - - <0.001 - -
26 RERB BRERE =0.01 - <0.001 - - <0.001 - - <0.001 - -
27 BhyOre EREE =0.1 - 0.016 - - 0.038 - - 0.024 - -
28 r)YBOOREEE R E <0.03 - 0.009 - - 0.02 - - 0.013 - -
29 JREDH/OArY & =0.03 - 0.003 - - 0.005 - - 0.004 - -
30 JOERILL fEREE =0.09 - <0.001 - - <0.001 - - <0.001 - -
31 RILLTILTER ERERE <0.08 - <0.008 - - <0.008 - - <0.008 - -
32 BIMRUVZDIEEY FKE KD MK =1 - 0.003 - - <0.004 - - 0.008 - -
33| FIEZHLRUZFDILED KEKDHER <02 - 0.02 - - 0.01 - - 0.01 - -
34 BRUZDIELED FKE KD IR =03 - <0.03 - - <0.03 - - <0.03 - -
35 FARUVZDILEY TKE KD IR =1 - <0.01 - - <0.01 - - <0.025 - -
36 FRIDLBRUVZDILEY TKE KD IR =200 - 6.4 - - 59 - - 6.1 - -
37 IVHVRUVZEDIEED FKE KD IR <0.05 - <0.001 - - <0.001 - - <0.001 - -
38 Eie14 BARE =200 8.8 14 14 8.3 7.9 7.2 9.6 75 7.2 15
39| WL L, TR LE BEE) | KEKDMER =300 - 18 - - 22 B - 22 - -
40 RFEZEY KEKDHER =500 - 44 - - 52 - - 65 - -
41 fEAA > KA S JKEK DR =02 - <0.02 - - <0.02 - - <0.02 - -
42 CIAAIV JKEKDHEIK| =0.00001 - - - - <0.000001 - - - - -
43 2—AFJLAVYRILAF—IL HEKDMEK| =0.00001 - - - - <0.000001 - - - - -
44 AR EEHES TKEKD IR <0.02 - <0.002 - - <0.002 - - <0.002 - -
45 Jx/— IV KEKDHEK| =0.005 - <0.0005 - - <0.0005 - - <0.0005 - -
46| EHM(EEHRRF(TOC)DE) BARE <3 0.4 0.5 0.6 0.7 0.8 0.7 0.7 0.6 0.5 05
47 pH1E BARE 5.8~8.6 7.2 7.3 7.2 7.1 7.0 7.1 7.1 6.9 6.9 7.0
48 S BARE | EEThL| #HL L HL L L AL L AL L L
49 2K #ARE | EEThL | HL AL L HL HL HL L AL HL AL
50 BE BABE <5° <05 <05 <05 | <05 <05 <05 | <05 <05 <05 | <05
51 AE BABE =2° <0.1 <0.1 <01 <0.1 <0.1 <0.1 <0.1 <041 <0.1 <0.1
e 0.5 0.5 0.5 05 0.6 0.4 0.6 0.6 0.6 0.5
S B 14.7 18.6 23.0 27.1 29.1 27.6 22.1 12.3 8.8 6.1
K Bl 11.8 17.0 18.9 22.9 255 275 224 14.5 10.1 46




